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Qbnwppmupph dwpgh Uwpipniine pwquippbiliph hwbpwjwiph /1-A pinly/
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wqnbgnipyuwlt qwhugpdwt hwdGpgnipynit
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Pwuwwpeneh nbuwyp' Cpowlw dhowdwynh Ypw wanbignipjwu
quwhwwndwl hwoybndniejnu /CUUS/
/U Yuwnbignphw/

Stnwnpdwt Jwjnp' Stnwppniuhph dwpg, Sanhndhun hwdwjup

Lbpwéwljwt dwu. «Ubip pwpbp» UM pulbpnigjwt Ynndhg /wjunihbun’
Culybpnipynit/ bwjuwwbuynd £ Uwpuinunt pwquiunubph  hwupwdwjph /1-A pinby/
wpnynibwhwdwlt  wyluwwnwbupubp, nph bwfuwghdp  dowldby £ Culbpnizwu
nbuthlwlwt wnwownpwlph hhdwu Ypw:

Cwldwdwju  «Cpowlw  Jhowdwipph  Jpw  wagnbgnpjut  gquwhwwndwlu L
thnpdwplunipjwt dwuhu» <L optiuph 14-nn hnnwdh, 4-pn dwuh, 2)-pn YGwnh q.
Bupwybwh' Uwpwuinune  pwqupunubph  hwupwdwiph /A1-A  pinl/  wpryniuwhwundp
nwuwlwpgynud £ «U» Yuwnbignphwih gnpdniubiniejwt inbuwlubnh guuynud:

Vjwpwgpwlpwt  Jwu. Uwpunniunt pwqupnubiph hwupwdwipp gquudnd |
dbnwdw L Ywpnbupuh hpwpluwihtu  Gnbwonpwubph  dhwgdwl Jwunud, dJdbnd
ptpniejnuubpnd uwpwhwpeh Jpw, Upghth L Uwpwniuh gbwbph dhowgbnpnd /
hwlwwwuwwufuwuwpwp' UpghGh gbimhg 0.474d  huy Uwpwinith gbwhg 1,54d
hGnwynpnipyniuutph ypw/: Cwlpwlwiph pwgwpdwly thobpp nwunwuynd Gu 2140d-hg
dhuslk  2190d-p  uwhdwuubpnud:  Culbpnipjwu  Ynndhg Lwhiwgdwd pwgwhwupp
gunuynid £ hwupwywiph  hwpwywiht  dwund, Stnwppniuhph dwpgh Stnhnghwin
hwdwjuph  Jwpswlwt  uwhdwuubpnd, hwdwiuphg 0.964d  hwpwy-wpldnuinp
ninneRjwdp: Uprynibwhwudw wofuwwnwuplbipp Ywagdwlybpwbint  hwdwp
ogunwannybnt £ gnjnipynit niubignn dwbwwwphUbipp, npnup pwpynp dhtwynid Lu:
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|lGnuwht wwwpubiphg Ywadnd £ 34%: Oguwlwnp hwuwdnt whwwuh £ ogunwgnnpdtint
npwbiu hnuwp' Bpbuwwwwndwl pwpbph, 2htwpwpwlwl pwph wpnwnpnewu Wowy
wpunwnpwlph unwgdwl hwdwp: Culbpnipywu Ynndhg bwhiwnbund § hwunwnwd
wwawnutiph bqpwadh hwpwywjht hwnywsdnud, Jwpwnniune pwquinubph hwupwywiph
1-A pinbhg  wpryniuwhwub] oguwlwp hwuwdn: Lwjuwgddwd pwgwhwlph nwwnh
onwnpdwl nwpwdpp Ywagdnud £ 4.14 hw, npnd pungpyywsd dwpynn ywowpubiph pwuwyp A
Ywpgny Ywqgdnid t 623.6hwg.d3, hul Ynpgynn wwpwpubph pwlwlyp' 552.4 hwg.d®:
Pwgwhwuph tnwpbywt wpunwnpnnulwunygniup hwoduwpygwsd  punn dwpdnn wywownh'
1247283, puwn Ynpgynn wwownpp' 1104843 Pwgwhwuph dwnwjdwl dwdybnt punniudws t
50 wwph: Lwhwgdwd pwgwhwlph dwjpwlybwnbph Ynnpnhuwwnubpp ARM WGS-84
hwdwwpgny hunlyw|u Gu.

1.y =8523035, x =4438778 3.y =28523186, x= 4438921

2. y=8522934, x=4438918 4. y=8523360, x=4438773

Cwupwywpp dwdlynn tipbuwgbipinp  ubpyuwjwgwsd Bu hnnwpnwwlwt 2tipunny
(0.31d hgnpnipjwdp) b wpnpwp-nbyndhw| pepdwsdpubpny (Unuin 1.3d  hgnpnigjwdp
qluwpwnwywquiht, gqupwpwiht, wjwquiwjwht b owpnnunjwd hnnduwhwpywsd
pwquinutiph Yunpubipnd): Muwydwuwynpywd wwwpubpp pwndp
opwpwhwugbihnipjwdp  pwgwhwup Ubppwthwugnn  deUnpnpuwiht  wbnnudubipp
htonnipjwdp  Ywpnn B Bupwpldlp  puwlwb npbuwdh: Gubny hwlpwdwjph
nbnwnhpphg, hwupwdwpduh nbnunpdwl wwpwdbunptiphg, dJwwpwgdwl wwwnpubiph
ng Ubd hgnpnupgyniutbphg L hhnpnEpypwpwbwywl  wwpdwuubphg, hwlpwywiph
Bwynudp  wpuwwbugnd  § pwg  |Gnuwiht  wpluwwnwlpubpnd’ Yhpwntiing
hnpwwwubwywiht tnwuwl: <wupwdwiph dwlydwt hwdwp punpdwd § punjuwuwlwu
day Ynnwup dowydwu hwdwlwpg' dJwlwpwgdwl wwwpubpl wpunwpht [gulnyn
nbinwthnfubiny:

Uhusl ogunwlwp hwlwénih wpnynitwhwudwt wpfuwwnwupubph ububp, dwdynn
dwlwpwgdwu  wwwpubph 2tpwnp  pnynngtipnd  hwywpynd b wywnnhuplwpwihny
wbnwihnfuynd § pwgwhwuph hjnuhu wpbbywt dwund dbwydnpynn dwdwbuwlwynp
[gwynywnbip b wnwudhb-wnwudht wwhbunwynpynd Gu N1 L N2 jgwlnyunbpnud: N1
lgwynywnp  hnnwpnwwlwu  obpnph  lgulnynt £, huly N2-p° wynuhwi-nbgnudhw)
wnwowgndubiph | gulynywnt £ (qupwpwiwquiht, qupwpwihl, wjwqwlwywhu
ynipbpnd L owpnnunjwéd hnndtwhwpywsd pwquintbph Yuinpubpnd): Culbpnizywu
Urndhg swhwgnpdynn pwgwhwupp dbpswlwlu nhppnud punipwagpynd £ hbinlbyuw)
wwpwdbunptpny.

e Udbtwdbid tiphwpnipniu - 3324,

e UdbUwdbd |wjunipyniu - 2184,

e Uwlwpwgdwl wwwpubinh dhoht hgnpnipintu - 1.614,

e Oguwlwn hwlwdnih wdbuwdbd hgnpnipyntu - 34.54,

o Oguwlwp hwuwdnjh hwoybilpnuiyhli wwownplbiph pwuwly’ - 623.6Huig.

e Upnyniiwhwuynn wwowputiph pwuwl'- 552.4hwq. 3, / e

e Uwlhwpwgdwl wwwpubph pwuwly - 66.9hwq.d*: £ ‘




Cwupwywjph  pwgnult  hpwywuwgybint £ hwpwy-wplbywu dJwuh 2186.50
pwpépnipjwl Uhohg, Ywnnigbiny 504 tplwpnipniu, 84 (wjunipjwdp wywnnbwlwwwph,
npUu- wunhéwuwpwn Gpupbinyg Yuwwuwplyh hwenpn hnphgnuubipp:

Cwdwdwju hwupwyw)ph whwgnpddwl wbhuuninghwywl ufubdwh, dhwpwph
wpryniuwhwudwt - wpfuwwnwupbbpp Ybwhiwwbudnd £ Jwwwpbp  hnpuunwubwwhu
Bnwtwyny: Lwlpwunhbwlbpp dowlybint LU 2.5d pwpapnipjwdp
hwupwuwnhtwuubpny' hwonpnwpwn Ybpbhg-ubippl: Cunniujwsd dowldwu hwdwlwpgh
tnwpnbipu Gu.

o Jwlpwuwnhbwuh pwpdpnigjnit - 2.5 4;

o Ubyunwlugnipjwl pbipdwih jwyunteintu = 1.0 d;

e Wouwunwlpwiht hwupwuwnhwuh pbpdwt wuyntu - 909

o Wouwuwnwlpwihtu hpwwwpwlh wdbuwihnpp jwjunieintu 18-20 J:

Pinbubph  (UEd  wrynwubph)  wpryniwhwunudp b Jhwpwph  wbgwnnudp
qwugywdhg bwfuwwmbudwsd § Yuwwnwpl hnpwunwubwywiht wotuwnwupubpny (ninnwaéhag
ninnuejwdp wlgwntiiny dhwpwpp) utiywugptiph dtip wbnwnpbiny utiy U hhnpwyhy
tupdwdp wnwowgubiny quugywsdh Gtinpnid: Ubwwugptipp hnpwwnndu hpwwlwgybijnt
t hnpwwdwu  dnipébpnd, huy  npwbu  Jdhwpwp  wnwbduwgunn  JdGfuwuhqd
ognwgnnpdybnt £ “Keapy” dwluhzh hhnpnubwwiht Yuwjwupp: <wunyphg wnwowgwd
wpunwnpwlywu pwihnuubpp /36458540° dwywiny, npnup hpbughg ubpluwjwgunud Gu
pwqwinh Yunnpubp/ b pinlubpp pwgwhwuph gwhwgnpddwl wnwphupht Yhpwgdbu
ntnnd’ uywnnnh Ynndhg:

Vwlwpwgdwl wwwpubpp /npnug dwyw)p pwgwhwupnd Yugdnd £ 669004%
npnup  UbpQuwjwgwd  Gu  thjupniu-pynpwiht nbgnupw|  wnwowgnuubpny b
hnnduwhwpwd  pwquntbpny, wnwtg Uwptwlwu thfupbgdwt hbnwgdbint  Gu
pniynngtinh oqunipjwdp: Udwnnhuptwpewihny wbnwihnfudbing 0.54d hGwnwynpniejwl
Ypw, dwlwpwgdwl wwwpubipp wnbnwnpynd U pwgwhwuph hjnwhu-wpbbywu dwunid
dbwynpynn dwdwuwwynp guwynywbpnud: Lgwynywnh  dhoht pwpépnipinitup Ylwaqdh
7.54, pbpnpjwl’ a=35%h nbwpnd |guynywbph  qpunbgpwd  dwybpbuubpp
hwdwwwunwujuwuwpwp YYwgdbt' 693002 L 143000% Cuwpwynpnipniu untindybijnig
htwn Jwlwpwglwl wwwplbpp Yubnuihniudbt pugwhwiph hwnwypt' unbindtny
ubipphu |gulnywntp:

Cwhwgnpddwl 20-pn nwpwuhg uluwsd, rwhwgnpddwup gnigpupwg N1 L N2
dwdwlwlwynp (guynywnbiph Jwlwpwgdwl wwwnpubpl /punhwuny 637004 dwdwiny/
ndjw]  wwpwdpht  wuhpwdbn  pwlwynipjwdp  wunhfwlwpwn  Yunbnwihnfuybu
pwgywd hwwnwl' unbindbiny ubppht gwynyunwwnwewgnid: 1.9d hgnpnipjwdp gytiiny
wpnbu huy wpryniuwhwudwd' 2186.5d 2184.04, 2181.5 pwpdapnipjwl hnphgnuubiph Ypw,
Yhwppbgybt' duwynpbiny Ubipphtu |gwynywntip: Uwwpubph Juwgwsd' 32008 dwywu
oguwgnpdytint £ pwgwhwlph whwgnpddwl  wywpnht'  juwpunywd  hnnbiph
yopwywugldwu dwdwuwly: Lwluwgdnd punniudwd pnynngbipp L t/g,u%;[mﬂﬁmhﬂli
ogunwagnpdybnt Bu iguwynyunwnwowgdwl dwdwlwy:




Pwgwhwuph opwdwwnwlwpwpnudp bwhuwnbujwd £ woluwwnnnubipht  fudbnt
onny wuwwhnybint, puswybu twl wfuwwnwlpwiht hpwwwpwlubpp, (guynywnbpp L
wynnwuwwwphubpp  thnabuunbgdwt  bwywwnwlny opbnt hwdwnp: Pwgwhwupnd
nbuupywywu L fudbne bywwwlubpnd  onipp Ypbipdh  9pwinwip  dbpbuwutipny’
wwjdwlwgpwjhu hhdnwipubpny: Yeugwnwiht Yenuwentpp Yhbinwgybu wugppwihwlg
hnp, npp uwhdwUwd Ywpany Ynwwwpyyh:

Cwupwywjph whwagnpddwlt pupwgpnd dpuUninpun wpwnwtbndnn yuwuwlwn
qwabph UL thnpgnt  wnpnip B hwunhuwund  pwgwhwbpp,  wbthjuwlwu L
wpwluwnpuwihu  dhongubipp,  |gwynywbpp:  Onwjht  wywqul  wpuwlbnynn
Juwuwlwn unebpu GU' wlopqwlwlwu thnoht, wgnunp L wétuwduh opuhnubipp,
wéluwepwdhuubipp, whun dwuthlubpp (dnip): TUUS hwodbunynieniunid hwadwnyybg
BU  wpunwubnnwubph pwuwlubpp: Upwnwubnndubph  wgnbgnieniup  quwhwnbint
hwdwp  Ywuwwpds £ npwug  gpdwb  wpryniupnd uwwuynn  ghintwdbipd
Ynugbunpwghwubiph hwadwpy /“Enw”(“Ipa”) hwdwlwpgswihu dpwapnd/: <wdwdwju
hwadwplubiph wpmyniupubph wpunwubuynn Unipbph glnbwdbpd Ynugbunpughwutiph
wnwybjwgnyu wpdbipubipp  /hwydh  wnubind  bwb  $nUwjht  gnigwuhpubipp/, sGu
gbpwqwugnd uwhdwudwd UfdY4-pp:

Pwgwhwuph |Gnuwlwwhwnw| wpfuwwnwuptbph L whwgnpddwl  pupwgpnd
onowlw dhowywiph Ypw pwgwuwlywl wagnbgnipnibbpp YwufuwpgbGine b dendGint
Uywwwyny Jdowlylp U plwwwhwywiwlwu Jdhongwnnwdubiph  dpwghp  ninnywd
dpuninpuiwiht  onh,  hnnwyht,  epwjhtu  nbuniputbiph,  Yebuwpwgdwquuniejwl
wwhwwunipjwup, wjn pynud’

- thngbitunbgdwl  bwywwnwlny  thngbwnwowgdwl ogwfultiph  (wfuwwnwlpw)hu
hpwwwpwlubp, hwupwfunpatip, |gwynywntip, dnunpwiht b nbwh gwynywbip wnwunn
wywnnGuwlwwwnh) hunbluhy opnid tnwpyw snp b 2ng Gnwlwlubipht,

- wnbuuhlwwnpwluwnpunwht dhgngubtiph wluwwnwuph wwwhnyntd
dwjuwfujwgnighs uwppwynpnudubipny’ wndniyh dwiwnwyh bwgqbgdwt Uwywwnwyny,

- wnbuthyw-npwuunpunwhu Jdhongutiph tpreubynipjwu pwgwnnid
dwuwwwphutiphg nt wpunwnpwywu hpwwwpwlubphg nnipu,

- nhabjwihu 2wpdhsubipny w2fuwwnnn [GnUwwnpwluwnpuwiht uwnppwynpnudubiph
Upw qunhsubinh tnbnwnpnd’ wpnwubnndubnph bjugbigdwt bwywunwlyny,

- wpunwnpwlwt hpwwwpwynd bwypwdpbnpputph wywhbunwynpnd b wwhnd
hwwnily hwinugywd ntinnud,

- oguwagnpdywd jnintiph nt puwynintph  hwywpnud wnwbdht  wwpwlbph  db’
Gpypnpnwlwl Yyepwdwlydwu hwdwp,

- huwdw? nbwnwubph nt dwubph hwywpnd b hwudunWd npwbu  dewnwnwlwu
pwihnl,

- Ybugwnuwjhu Yenuweptiph htnwgnd phngniqupwup dhongnd, npp Yunbnwnnyh
wpunwnpwlwu hpwwwpwynud,

- huwpunydwd nwpwdpubph yepwlwugunud/nbynynhyughw:

Uwpuniniunt pwqunutiph  hwupwdwjpnd /1-A pinly/ fuwfundwd  tnwpwdplbiph
lnuwwbfuupywlwu L Yeuwpwuwlwu  Jepwlwugunwdubip - hpwlwlwg Ln’j.:_\iz'u
owhwagnpdwlwt  wpfuwwnwupubiph  wywpwnhg L wwpwpubpp  uwywn mthhmr;\\
Lonbuwinbfubhlwlwt  JbpwlubeUiwt  Uwwunwng  oquugnpddtint /&~ jaulnynnt %52\




duwgwd' 32000° dwlwpwgdwl wwwpubph dwywip: Lodwd dwjwip Yubnwihntuyh
2151.5 L 2149.0d, pwpdpnipjut  hwbpwunhbwutbph Jpw, Yhndh 1.9d dhoht
pwnpapnipjwdp b Yhwppbgyh: LbBnbwjht  woluwwnwupubph  wywpunhg  hbwnn
Uhwppbgybl' pwgwhwuph hwwnwyp' 3135002, wpnwnpuiwt  hpwwwpwyh L
wyinnbwlwwwnphubph dwybpbulubpp, Yybpwywugudh b Yhwpebgyh bwlb bwiuypunwd
Suwynpdwsd wpuwpptu (gulnynp dwybpbup: MHEYnynhdughwih Bupwlw wwpwdpp
punhwunip  YYwqdh 49000 d?, huy |Gnubwwnbhupyuywu  Yepwywugludwu
hpwywuwgdwl Swfuubph fungnpugwséd Lwhuwhwohdp quwhwwngb) £ 1093.2 hwq.
npwd: LEnuwwnbluthjuwywt yepwywuqunidhg hbnn bwiuwwnbudwsd £ YEluwpwwlwu
ybpwlwugunid, nph hwdwp Yoguwgnpdh N1 hnnwpnwwlwl 2bpnh  jguynyunnud
wwhbuwnwynpywd hnnwiuwnt wwwpbbpp: Uwwpubpp thnbing hbon jhpwlwtwgyh
hhnpngwup: Cunhwunip' 4.9 hw Jwlbpbund  YEbuwpwlwlwu  dbpwlwugqudwu
hpwwtwgdwlt dwpuubpp quwhwwnygby Gu 980 000 npwd, hul nGYNyhYwghnl
dwiuubipp punhwunip YYwgdbu' 1093.2+980.0= 2073 .2hwq.npwd:

Culybpnipywt Ynndhg, wpynibwhwudwup gnigpupwg hpwlwbwgubnt £ 2powljw
dhowdwipp Jpw pwgwuwlwl wagnbgnygniuubph Ywlfuwpgbpdwut  ne dbnddwut
ninwéd  dpnnwnhwnwpynwdubp,  npnup Ubpwndbp B plwwwhwwbwlwt
danwnhunwpynudubiph wwund b npwbiv opjiyunubip nhunwplyyb) GU* dpluninpuwght onp,
hnnwjhu dwdlynyep, Yeluwpwuwywlu dhowywjpp: Upwnwnhwnwnpynidubiph
hpwlwlwgdwl nwnblwu dwhuubipp YYwaqdbu 150.0 hwq << npwd:

cUUS-nud twhiwwnbudbp Gu bwlb dhgngwnnudubip, ninnywd  wouwnwlpw)hl
dhowdwypnud  wofuwwnnnubiph  wbunwugniejwlp,  wpunwlwpg  hpwyhbdwlubph
wpdwgwupdwlp, hpnthwjhu wudunwlgnipjwln, huwpwynp  unghwjwlwl
wqnbigngyniutbph dbnddwit ni Ywufuwpgbdwup: Pninp dhongwnnudubint - hptiug
gnpdnnniniuubipn wdihnihydb) U ptwwwhwwiwwu Ywnwdwpdwl b dnuppnphugh
wwuubpnud:

Gogpwihwlyhs dwu: Lwfuwwnbudnn  gnpdniibinipput CUUS  hwodbundniejwu
thnpdwplunipyntut - hpwlwuwgybp £ <<Cpowlw dhowdwiph  dpw  wgnbgniejwl
guwhwwndwu b thnpdwpuunipjwt dwuhu>> << opbiuph wwhwugubnny: Suwhwundwu b
thnpdwplUntpjwu thnyipnud gnpontubinuejwl hpwlywuwgdwl Jbpwpbnyuwy
Sbnwppniupph dwpgh Stinhndhun gyninnid wughwgytip Gu hwlpwiht pulwpyndubp
/snpu puliwpynud/, npnlug pupwgpnd gnpdnwibinuejwlt hpwlwbwgndp dwutwlhgutiph
Ynndhg wpdwuwgl] t  hwdwunpwt' Yuplunpdbind  (pwgnighs  watuwwnwiinbinbiph
uintindnudp L hwdwjupnid unghwjwlwu dpwanbiph hpwywlwgnidp:

®npdwpluwlwl  gnpdplpwght  dwulwlygh U wnnnowwwhnipjwu L
wpunwlwpg hpwyhbwlubph Ywuwpwnpnuejniubpp, SEnwppnihph  dwpqubunwpwp,
nbnwlwu huptwlwnwjwpdwu dJwpdhutubpp, << SUU Ubwuw [6h wywhwwunipjwl
thnpdwaghunwlwl hwuduwdnnnyp, nowlw dhowywjnh Uwluwpengewl
unnpwpwdwundutip b «Ulwb» wgguwiht wwply MNUY-p, npnug Ynndh _E;.'U\:ip‘diiﬁljl é“b[l,ﬁ‘ N




cUUS hwoybinygnipyniunud ubpyujwgdwd puwwwhwwuwlywu dhongwnnudutinh b
dnuppnphugh  gnpénnnieniuiph ppwlwlwgdwl  wpryntupnid,  gnpdniubiniejwl
hpwywlwgdwt pupwgpnd  wnuinnjwdnipiniup  onwiht b onpwjht  wywquulbph,
hnnwjhtu nbuniputbiph huswbu bwb YEbuwpwadwquunipjwt Ypw Yguudh pnyjwnpbih
unpdbiph uwhdwutbpnud:

®npdwpliwlwl wwhwugubp

1. Cwupwpmyniuwhwbdwl  woluwwnwuptbph  ppwlwiwgdwt  pupwgpnid
wuhpwdbion £ wnweounpnyby < Ywnwywpnipjwl 22 thtnpdwph 2018pqwlwup N 191-
U npnadwt wwhwgubinny, 2ngwlw dhowduynh pwnwnphgubiph /dpuninpuiwht on,
hnnwjhu  dwdynye, YGUuwpwgdwquunuyen/  daunwnhunwnpyndubph - wpnyniupubiph
wwnpbwl  hwpdbndnieniup - Updwé  npnadwdp  uwhdwldwé  dwdybnubipnd U
dluwswihny Ubpywjwgtb| |hwgnp dwpdhu:

2. Cwupwywjnph whwgnpddwt pupwgpnd wfuwwnnnubph wuywnwugnipjwl U
wnnnenipjwl wwwhnydwl hwdwp wuhpwdbyn § wnwounpnyb) << wfuwnwlpw)hl
optiiugpph 23-pn g(fup wWwhwugltinny:

3. Qnpédniubinewl  ppwlywlwgdwlt pupwgpnud  wuhpwdtan £ wwwhndbp U
wwhwwub] ptwwwhwywlwywu junwwpdwt wwund b danwnhnwplydwl dpwgpnud
Uwhuwwnbudwsd dhongwnnuwutinh hpwlwuwgnudp b dwdwlwywgnygtinp:
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«Utip pwpbp» UMC UNL UMNC Ynndhg ubpyuwjwgywsd Stinwnpniupph dwngh
Uwpwnniunt  pwquinubph  hwupwdwjph /1-A pinly/ ogunwlwp  hwlwdnjh
wpryniwhwudwt  wpfuwwnwupubph  2powlw  dhowdwiph  Jpw  wgnbignipjwl
quwhwwndwy hwoybnynieywt Yopwpbpw npdnd b npwlwt bgpulwgnyegnt’ Jtipp
Ugdwd thnpdwplwlywu mwhwhghh@ﬁ_}u&pquhp Ywunwpdwl wwjdwuny:

Hfu. Jwulwgtin' a2 <. Uypungjw




